Summer Math Reinforcement Packet Students
Entering into 6th Grade

Our fifth graders had a busy year learning new math skills. Mastery of all
these skills is extremely important in order to develop a solid math foundation.
The sixth grade math program will add onto these fifth grade skills, so any time
spent learning or reinforcing these concepts will be very beneficial for your child.

Each year builds upon the previous year’s skills in math. Any areas your
child has difficulty, you may want to give them additional practice. Student
mastery of the basic math skills is as important to success in future mathematical
procedures and reasoning as learning the alphabet is to reading and writing. Have
your child complete one page {one side), three times a week of the math packet.
Please return this completed packet in September to your sixth grade math
teacher.

The class receiving the largest percentage of summer packets returned will
wih an extra recess at school. Your child will receive a prize and certificate for
completing the packet. The biggest prize of all is being ready for sixth gradel

After your child has completed the math problems and you feel your child
is still struggling on a certain concept and needs further practice, you can visit
some of the web sites listed on the next page. You can also make up problems of
your own for additional practice.

To get a copy of the math packet you can go on Brockway Elementary
website at htip://www.brockway.k12.pa.us/Elementary/index.html and print
another copy.

Take a little time each day to work on math and enjoy your summert!

Reminder - Practicing multiplication (up to 12) and
division facts are VERY important!




= FIFTH GRADE
GRADFE. LEVEL EXPECTATIONS IN MATHMATICS

When entering sixth grade this is what is expected that your child should already know.

1. Understand the meaning of division of whole numbers and how to check your answers through
multiplication. Ex, 34 +5=6r4,50 5x6=30+4 =34,

Fluently multiply a multi-digit number by a two-digit number.

Divide flzently up to a four-digit pumber by a two-digit number.

Find the prime factorization of numbers from 2 through 50, cxprcss in exponential notation.
Ex. 24=2x2x2x3=2"x3!

Understand a fraction as a statement of division. Ex. 2+ 3 =2%/[]

Multiply and divide 2 fractions and understand fact families.

Divide a fraction by a whole number and a whole number by a fraction,

Add and subtraction fractions using untike denominators, using common denominators.

Multiply and divide by 10°s, 100°s and 1,000°s using mental math.

10 Multiply up to 2-digits and declmals up to 2 digits.

11. Solve story problems with adding, subtracting, multiplying, dividing fractions and decimals.
12, Solve for the unknown in equations such as Y4 + x = 7/12,

13. Express fractions and decimals as percentages and vice versa.

14. Express ratios in several ways. Ex. 3 cups to 5 people, 3:5, 3/5; find equivalent ratios.
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15. Recognize the equivalence of 1 liter, 1,000 mi and 1,000 cm® and conversion between.

16. Understand volume; cubic centimeter (cm?), cubic meter (1m?), cubic inches (in}, cubic foot, {ft*), and
cubic yard (yd*). Beableto compate one cubic inch to one cubic foot and one cubic centimeter to
one cubic meter.

17. Convert measurements of length, weight, area, volume, and time within metric to metric and within
standard measurement to standard measurement.

18. Know how to calculate the area of a triangle — A = !4 bh and area of a parallelogram A = bh.

19. Calculate the volume of a cube and rectangular prism.

20, Understand that the measurement of 90°, 180°, 270°, and 360° are associated respectively with Y, Y%, and
%4, and full turns.

21. Measure angles with a protractor and classify them as acute, right, obtuse and straight.

22. Find unknown angles in problems with angles on a straight line, vertical angles and surrounding a point.
23. Know angles on a straight line = 180° and angles surrounding a point add up to 360°.

24, Know the sum of the interior angles of & triangle is 180 ° and the sum of the interior angles of a
quadrilateral is 360°.

25. Read, interpret, and solve problems involving fine graphs.

26. Construct line graphs from tables of data; including axis labels and scale.
27. Calculate and interpret the mead and mode of a given set of data.

28. Solve multi-step problems involving means,




Excellent websites for fun learning and reinforcement of math skills:

www.wildmath.com Select “Play the game”. Select addition, subtraction or multiplication and grade.
You can race to beat your time.

www.aplusmath.com  Go under “Flashcards” or “Game Room™ on the left side of the screen.
They can practice adding, subtracting and multiplying. Very important to
know the addition, subtraction and muitiplication facts from memorization
or within a couple seconds.

www.mathisfun.com  Select numbers then Math Trainer for adding, subtracting and multiplication.
Or at the home screen select games and pick a game to play.

www.illuminations.nctm.org  Select activities then select grade level. Click on Search.

www.aaamath.com At the top pick “Fifth” or “Sixth” for a challenge. Choose any of the
activities like multiplication then select “play” option toward the top
of the screen. 20 Questions and Countdown games are good ones.

www.funbrain.com Lats of fun games to choose from.

Other games and activities you can play:

e Take a deck of cards and remove the face cards (kings, queens, jacks). Aces are one, Divide the
cards evenly among 2 players. Each player ﬂips over a card. The first one to add the 2 numbers
oorrectly the fastest wins the cards. After going through the pile of cards, the player with the most
cards wins. You can do a multiplication version also.




- TERMS

Edges: This is all the straight lines of a figure. Like the edge of a desk.
Faces: This is the flat surface of a figure.
Vertex: This is all the corners of 2 figure.

Right angle: An angle at 90° like a corner of a picce of paper.
Acute angle: An angle smaller than a right angle.
Obtuse angle: An angle larger than a right angle.

Volume: volume is length x width x height

Perimeter: You add up all the sides. (You are adding all lengths of the outer edges together.)

Area: Area of a square or rectangle = length (1} x width (w) answer is written in “square inches™
{or whatever the measurement is)

Area of a parallelogram is length x height.
Answer written in “square inches” {or whatever measurement)

| height

Length
Area of a triangle is % base x height or {base x height) + 2
Triangle: Sum of the 3 interior angles of a triangle is always 180°.
Quadrilateral: Sum of the 4 interior angles in a quadrilateral is always 360°.

Mean: This is average. You add the set of number values and divide it by how many
pumbers you have.
Median: Arrange numbers from smallest to largest. What number is in the middle?
That is the Median number.
Mode; What number occurs most often? This number is the mode.
Range: Subiract the largest number in the group from the smallest number in the group.
This number is the range.

Conversion: - :
60 seconds = 1 minute 24 hours = 1 day 16 ounces = | pound
60 minutes = 1 hour 12 months = 1 year 2,000 pounds =1 ton
365 days = 1 year 52 weeks = 1 year
- 12 inches = 1 foot 10 millimeter = 1 centimeter (approx. 3 ¥4 centimeters = 1 inch)
3 feet=1 yard 100 centimeter = 1 meter (approx. ! meter = 1 yard)
5,280 feet = 1 mile Liter to milliliter is the same as meter to millimeter

Fractions:

Adding and subtracting: you need to have the same common denominator (bottom) then, you + or — the

numerators (top).

Multiplying: you multiply both numerators then you muitiply both denominators. Convert to improper

fractions if needed, no mixed nmumbers.

Dividing: convert to improper fractions; flip the second fraction in the equation then multiply.




Entering 6% Grade Summer Math Packet

First Name: : Last Name:;

6™ Grade Teachor:

I have checked the work completed:

Parent Signature

1. Find the products. This page should be compleied in 3 minutes no morc than 4 minutes.
Have someone time you. Any multiplication problem you do not know quickly, practice on flash cards.

6 4 7 5 12 3 6 3 H 7 5 6 3 8
x2 x4 x2 x4 x0 x3 x3 x8 x8 x3 X3 x4 %9 x3
6 2 3 B 7 12 8 3 11 7 9 4 4 9
x5 x12  x6 x2 x5 x1l x4 x7 x4 %6 x2 x8 x6  x3
4 3 0 5 9 5 2 9 5 11 5 g 7 7
x7 x0 x3 x8 x4 x7 xl x5 x6 X3 x9 x8 37 x9

& 6 8 i 9 g g 1 9 2 | 3 12 1
18 %6 x7 x2 x6 x9 x6 x9 x1 x5 x1 x4 x3 x3
8 8 12 3 12 3 3 4 2 7 6 2 ¢ 12
x0 xl x4 x9 x0 xl X2 x0 x2 xi A8 x6 x7 X3
8 4 2 9 i2 11 2 0 6 1 5 3 2
x5 x1 x8 x7 %8 x6 %9 x4 X2 x9 x0 x2 x3 x4
4 12 4 4 | 2 11 6 7 5 2 1 4 11
p.Ll x6 x2 x3 xd x3 x7 xi %8 x3 x7 x8 x5 x4




2. Find the quotients. This page should-be completed in 3 no more than 4 minutes. Practice
any problems you do not know instantly. Think of the multiplication fact family. The better you
know your multiplication facts the easier division will be. .

22 39

)8  7)63 8)40 50 44

26 3)3

N5 520 318

6 321 918 424 26

99 4136 642 540 8)64

81 + 9=

10+2~

72+8=

25+ 5=

12+1=

412

36

N8

14

48+ 6=

54+6=

49+ 7=

832 749 510 40 D1

9)45

H15

535

6)30

954

3)12

416

6)36

4)28

Hs 212
9)63  6)6
0 927
S 3127
856 15
18+6=__
36+9=__
T2+9=_

18+2~=

21+3=

24

19

78

432

6)24

N3 12
7 30
721 4)20
324 20
7)56  8)24
2+7=___
45+5=_
6+1=_

30+ 5=

36+6=




Select the one best answer for each question: DO NOT use a calculator in completing this packet.

3. Jennie was assigned this problem:
146
x25

She worked out the problem in this way:
146 x 2 =292, and 146 x 5 = 730, Then she added 292 + 730. She knew t.hat her answer was
wrong because her answer seemed too small. What should she have done differently?

A.  She should have multiplied 146 x 50 instead of §46 x 50.
B. She should have multiplied 146 x 20 instead 0f 146 x 2.
C. She should have multiplied 146 x 200 instead of 146 x 2.
D. She should have multiplied 140 x 2 instead of 146 x 2.

4. Which of the following is the correct computation of 4,063 x 527 (Do not use a calculator.)

A, 4,063 B. 4,063 C. 4,063 D. 4,063
x 52 x 52 x__ 52 x_ 52
8026 8126 8126 _126
200150 20315 . 2030150 203130

208176 28441 2038276_ 211276

5. Samantha has to read a book that is 525 pages fong. She has 21 days to read the book. How many
pages will she need to read each day to finish on time?

21

25

546
11,025

S0wy

6. Andrew’s family is going on vacation across the United States, They traveled 515 miles every day
for 17 days. How many miles did they travel in all?

A 532
B. 4,120
C. 8,165
D. 8,755

7. Three classes of 25 students collected 8 cans of soup from each student. The cans were then to be
divided between 4 charities. How many cans of soup went to each charity?

50

108
150
800

Sows




10.

11,

12.

13.

Brent has a collection of 84 Bobble Head trophies he needs to box up for the move to his new home.
He can fit 7 trophies into one box. How many boxes will Brent need?

A 10
B. 12
C 13
D 21

Kayla has 12 cousins. She received $15.00 from each cousin for her birthdsy. How much money
did she receive in all?

A, 327
B. §120
C. $150
D. $i80

The 5™ grade is going on a tip to the state park. There are 1,012 students going. Each bus can hold
44 gtudents. How many busses will they need? (Do not use a calculator.)

A 23
B. 26
C. 50
D. 968

Find 1717 + 17. Do not use a calculator.

A 11
B. 101
c. 107 -
D. 1001

Solve 4806 + 15 without using a calculator, show your work.

A 32
B. 320r6
C. 32014
D. 320

Solve 647 + 21. Do not use a calculator, show your work.

3ril
3r2l
30r8
a0r17

cowpE




14.

15.

16.

17.

18.

Use a factor tree to find the prime factorization of the composite number 56. Which answer -
expresses the number in exponential notation (powers)?

A A2x5
B. 22x5*
C. 2”x5
D 10x5

Find the prime factorization for 84.

A 2x42

B, 7x2x2x3
C. 7x4x3
D 7x12

Find the prime factorization for the number 48 expressed in exponential notation.

A 3tx2?
B.6x8&
C.3x2x4
D.3x2°x4

Which drawing would you use to find the product of these two fractions?

A, Drawinga
B. Drawing b
C. Drawingc
D. Drawing d

Salve this equation:
343=

oOwp
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19.

20.

21.

22.

23,

24,

Solve the following: *
1/3 ~4=

A 443

B. 1/7

C. 1712

D. 12

Solve this equation: 2+ %=

A 172
B. 2/4
C. 2
D B8

Mrs. Lovell’s class is baking cookies. They need 3 3/5 pounds of sugar and 5 1/3 pounds of flour,
When they mix the sugar and flour together, how many pounds will they have altogether?

A. 8 4/8 pounds
B. 8 % pounds
C. 9 3/15 pounds
D. 8 14/15 pounds

Choose the correct answer for this problem:
7/9-3/8 =

10/17
29/72
56/27
21/72

SOw»

Choose the correct answer for this problem:
3/7+2/9=

A 5/16
B. 41/63
C. 6/63
D. 18/14

Tom had 7/12 of a pizza. His little sister came along and took 2/5 of his pizza away. How much

pizza does Tom have left?

11760
57
9/17
5/60

cow»
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25,

26.

27.

28.

29.

30.

11

Jill has % of a yard of ribbon. Tammy has 4/7 of a yard. How much do they have together?

A. /11 of a yard
B. 40/28 of a yard
C. V3ofavard
D. 37/28 of a yard

Pavl had 3 7/8 cups of milk. He gave 1 % cups of milk to his cat. How much milk did he have left?
Show vour work,

A, 2 cups

B. 2 1/8 cups
C. 24/4 cups
D. 17/8 cups

Nancy ate 1/3 of a pizza and Gabe ate '% of the pizza. How much of the whole pizza is left?

A 712
B. 5/12
C. 21
D. 677

Choose fthe correct answer for this problem:  5/4 —3/12=

A 2/12
B. 12/12
C. 9/24
D. 2/48

Patty brought ¥4 of a cake to class, and Joe brought 3% of a cake on the same day. How much cake
did the class have altogether? Show your worl.

A. Y cake
B. 1 cake
C. 4/6 cake
D. 1 Y cake

Don has $12.32 in his piggy bank. He collects and returns pop cans for $3.70. Approximately how
much money does he have together? (Round the answer to the nearest whole doilar.)

A 88
B. $15
C. $16
D. $17




31.

32.

33,

34,

35,

36.
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Michelle earned $5.00 for every hour she babysat, Last week she babysat for 8 hours, She spent
$12.00 of the money she earned. Which expression could be used to find how much money she had
left? :

A $5.00x8+812.00
B. $5.00+8-812.00
C. §500x8-8%12.00
D. $5.00x 8+ $12.00

Ten fourth graders will each eat one — fourth of a pizza. How miany pizzas need to be ordered for the
ten students? .

A, 2 pizzas
B. 3 pizzas
C. 4 pizzas
D. 5 pizzas

In the equation 1/3 +x = 5/12, what does x =7

A, 479
B. 5/4
C. /12
b. 312

Solve for x:
1112 —x =%

10712
8/12
10/8
3/4

=N R

Solve for x: x+1/3=3%

A 21
B, 5/12
C. 47
D. 15/12

Exactly 1/20 of the students in Mr, Nebel's class have a bird, What percentage of his students has a
bird? ' '

A, 0.05%
B. 1%
C. 5%
D. 20%
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_ 37. Seven out of ten students in Ms. Allington’s class completed the summer math packet. What
percentage of students completed the packet?

A T%
B. 70%
C..7%
D. 14%

38. How much larger is one cubic foot than one cubic inch?

A, 3 times larger

B. 15 times larget
C. 144 times larger
D. 1728 times larger

39, Which of the following is NOT equivalent?

A, 1 ton = 2000 pounds

B. 1 mile= 35200 feet

C. 9feet=3 yards

D, 60 minutes = 3600 seconds

40, Sharon reads the juice bottle and finds that it contains 1.89 liters of juice. His cup only holds 240
milliliters so he wants to convert 1.89 liters to milliliters. The bottle contains how many millilirers?

A, 1.89 milliliters
B. 18.9 milliliters
C. 189 mikiliters

D. 1890 milliliters

41. Solve the following:

2,749 - 156 837 368
X 68 x 78 x 46 x 20

42, Which is true?

A. 0.07 is ten times greater than 0.7

B. 0.070 is ten times greater than 0.007
C. 0.070 is equal to 6.0070

D. 0.07 is seven times greater than 0.70




43,

45.

46.
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Using the rectangle method, what is the area of this triangle?

2 square units
4 square units
6 square units
8 square units

TOm>

. Which statement is true about the relationship between the areas of these two rectangles?

Rectangle A Rectangle B

4 units 4 units

10 units 2 units

Rectangle A has twice the area of Rectangie B.
Rectangle A has 5 times the area of Rectangle B.
Rectangle A has one-half the area of Rectangle B.
Rectangle A has one-fifth the area of Rectangle B.

COw>

What is the area of this quadrilateral?  Area = height x width

12 feet

v/

30 feet
30 square feet
36 feet

36 square feet

gow

Which of the following is a true statement?

A. 0.003 is 1/3 the value of (.03

B, 0.003 is 3 times the value of 0.03
C. 0.003 is 1/10 the value of .03

D. 0.003 is 10 times the value of 0.03
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47. How do the arcas of these two figures compare? Select your answer, then explain why you think
you answer i correct.
4.dn, Sige” 14in.
H0in | 10 ia.
Figure A Figure B
A. The area of Figure A is greater than the area of Figure B.
B. The area of Figure B is greater than the area of Figure A.
C. The area of Figure A is equal to the area of Figure B.
D. The area of Figure B is twice the area of Figure A,
48. Use the diagram to find the area of the triangle ZMT,
M::::
b em
z  loem T
A. 16 square cm
B. 30 squarecm
C. 32 square cm
D. 60 square cm
49, What is the area of this triangle?
A A=(524)+2
B. A=(5x5)+2
C. A={6x5)+2
D. A=({6x4)+2




50. The area of the triangle can be found using the formula A =bh + 2, Which of the following
figures is labeled correctly to apply this formula?

drb=__
2x9=_
Bx5=_
2+4=__
2+9=_
45+9=

24+3=

52. Find the sum or difference. Watch the signs.

501 607
-247 =217
487

53. Find the difference 701.02 — 234,12,

A
h
k-
A
[
B,

51. Solve cach of these without using a calculator:

=]

Show your work

6x7=

9x 6=
3x4=

56+7=

3Ix8B=

Ex 7=

3x8=

700
- 202

|4



54, What is the area in square centimeters of the triangle pictured below?
16 cm.

12 em

A. 28 square cm.
B. 56 square cm,
C. 96 square cm.
D. 192 square cm.

55, What is the area of this triangle?

A7
B. 11
C. 12
b. 24

56. What is the area of this triangle? (A =bh=2)

1hem

17 sq. em.
33 sq, cm.
66 sq. cm.
132 5q. cm

cowx

57. The fraction 4/20 equals what percentage?

A 4%
B. 20%
C. 25%
D. 40%

17
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58. Use the diagram to find the area of the parallelogram. (A= bh)-

A. 12 square centimeters
B. 15 square centimeters
C. 20 square centimeters
D

. 60 square centimeters

59. Find the arca of the parallelogram below.

R om .
l
/ : 5 %4'@&3
a _Ei -

Jem

12 eo®
24 cm’
32 em®
40 cm?

vawp

60. What is the area of the parallelogram shown below?

4c/ /

10 cm.

14 em?
20 cm’
28 om*
40 cm?

SEel- S

61. The area of this paralielogram is 24 square units. The base of the parallelogram is 8 units. What
is the height of the figure? Circle your answer below and draw the height on the parallelogtam,

_— _

A. 2 units
B. 3 units
C. 4 units
D. 6 units




62.

oOwp

2 Doy

SOwp
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The area of a parallelogram is 36 square inches. All of the following are possible bases and
heights for this figare EXCEPT:

1 inch by 36 inches

3 inches by 12 inches
4 inches by 9 inches
5 inches by 7 inches

. The base of the parallelogram below is 9 centimeters. The area is 72 square centimeters. What

must the height of the parallelogram by? (A = bh)

6 centimeters
7 centimeters
8 centimeters
9 centimeters

. Using unit cubes, build a solid that is 6 units in fength, 2 units in width, and 3 units in height.

What is the volume?

11 cube units
18 cube units
24 cube units
36 cube units

. Using unit cubes, build a solid that is 4 units in length, 4 units in width, and 4 units in height.

What is the volume?

12 cube units
16 cube units
36 cube units
64 cube units

. A cereal box has the shape of a rectangiilar prism. It is 12 inches high, 6 inches wide and 2

inches deep. How many cubic inches of cereal can it hold?

20
4
72
144

COowr
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67. If the minute hand moves half way around a clock, how many degrees has the minute hand
turned?

90°

180°

270°

360°

Jaw>

68. If you are facing north and you turn your body so that you are facing east, how many degrees
bave you turned?

A 90°
B. 180°
C. 270°
D. 360°

69. Find the sum of 23.5 + 157,93, Show vour work.

70. Which of the following angles is an acute angle?

A - - > g
o
A. <BOE
B. <AQD
C. <BOC
. <COE




71. Which of these angles is a straight angle?

<AQD
<AOC
<AOD
<COD

UOwp

72. Which pair of angles are vertical angles?

<AQD and <BOC
<AQB and <BOC
<BOC and <COD
. <AQC and <BOD
73. Which of these angles is a vertical angle to <DOC?

Uowp

B
A -
\ o

<AQOB
<BOC
<AQD
<DOA

Snwy

74. What is the measure of angle y? (Do NOT use a protractor to find your answer.)

" A 40
B. 50
C. 140
D. 180

21
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75. In the diagram below, which is the closest to the angle measurement? (Do NOT use a protractor to
find your answer.)

I

25 degrees
85 degrees
150 degrees
180 degrees

Tawp

76. A pizza is divided into 6 pieces. Each piece is the same size, as shown in the picture. Think about
what the total angle measurement is for all 6 pieces. Then calculate the angle measurement for one
piece, angle x.

i
;
:
;
T_

One piece of pizza has an angle measure of ' l

A 30°
B. 40°
C. 50°
D. 60°

77. A gate is open in a 50 degree angle. How many more degrees will the gate have to open until it is
flat against the fence?

50°
e

40°

100°
130°
310°

vOw>
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79.

- 80.
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Solve the following:

1x9= © 3x6= 9x7= 6x2=
gx6=_ 2x2= 3x8= 9x9=
4+3= '?x?_: 56+7= 4x0
48+6=_ 18+ 6= Tx3= 7x6=

In a spinner gaine, the spinner has 4 regions of unequal size, as shown below.

How many degrees are in the missing angle x? (Do NOT use a profractor.)

A. 30°
B. 45°
C. 60°
D. 75°

Raymond played with a game spinner shown below and realized that he couid see angles in different
sections of the spinmer.

i
vaY,

What is the sum of all these angles?
A 90°

B. 185°

C. 275°

D. 360°




8l

82.

83,

84.

24

<ACD measures 60°. Find the measurement of <ACB. (Do NOT use a protractor.)

&

120°
130°
160°
. 180°
hich of the following could be the measures of the interior angles of a triangle?

oo

£

30°, 30°, 30°
30°, 60°, 90°
60°, 90°, 120°
60°, 120°, 180°

SOWp

This is a paralielogram. In all parallelograms, the opposite angles are equal. Find the measure of
angle x. :

50°
60°
70°
120°

vaws

‘What is the measurement of angle A?

45°
60°
90°
120°

oWy
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85. What is the sum of the angles in thispolygon? Choose the correct answer, and then explain how you
figured it out.

LTI T e

180°
360°
540°
720°

onws

86. In a quadrilateral, two of the angles each have a measure of 110°, and the measure of the third angle
is 90°. What is the measure of the remaining angle?

A 50°
B. 90°
C. 130°
D. 160°

87. In this triangle, what is the measure of angle B?

30°
45°
60°
180°

Sawp

88. What is the measurement of angle X in this triangle?

90°
120°
130°
135°

COwp
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89. If angle A equals 45°, what is the measure of angle B? Choose the correct answer, then exﬁlain who
you figured it out.

COowe

60°

130°
135°
145°

90, How many more magazines were sold in 1990 than in 19897

COws

Magazine Sales

500 . -

400 ; Aq
300 -\Jl
200

100

1TO8S 1889 IGO0 1991 1982 1993

About 50 magazines

About 100 magazines
About 200 magazines
About 250 magazines

91. Using the graph below, when did New Zealand’s GDP increase the most?

2000 E
~ XT3 une zehaso
3ROG
—1 O THER COUBTRIES'
g 1600 "
& =t
= -
ﬁ e —
W 1400 I "'
g‘ _"_,.-‘ //\
[ — ) e - I el
1260 p—fo—tE = R
A
j3ulr ¥)

1934 'B5 EE WY BE =9 96 9 WA MR MM M5 WE ST B 9w
Year

Gross Domestic Product (GDF) for New Zealand and Other Countries

ST

1986-87
1988-89
1992-93
1995-96
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94,
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Using the graph above. In 1988 what was the difference of the GDP for Other Countries and New
Zealand?

A, About $100 per head
B. About $200 per head
C. About $12060 per head
D. About $1300 per head

Family A has 2 children, Family B has 1 child, Family C has 1 child, and Family D has 4 children,
What is the mean number of children for the families? '

A,
B.
C.
D.

[ S

The set of data below represents the number of books read in one month by each member of the
book club.
3,6,7,3,390,0,1,3, 7,2 59,7

What is the mode number of books for this set of data?

A
B.
C.
D.

LT I W ]

What is the tange number of books for the set of data above?

TOwp
Vo L

The data below show 2 set of Angela’s golf scores. What is the mcan of the scores listed?
84, 88, B8, 77, 73

73
82
84
88 '

oW

Family A has 2 children, Family B has © children, Family C has 1 child, and Family D has 0
childten. Find the mode for this data.

oW
W




97. Find the difference:

701 08 - 100 63 R - 114 66
=35 27 -37 -47 -15 -37 =24

98. Find the product:

361 0.47 59 0.28 1
x 37 x 68 x 39 x 1.8 x 4.

99, Last summer Samantha swam the backstroke in five swim meets. Her times were:
56 seconds 56 seconds 44 seconds 47 seconds 42 seconds
Find the mean of her times,

47
49
50
56

Cowp

100, Mary’s quiz scores were 92, 85, 78, 52, 71, 77, and 80. She told her mother she had an
average of 92 for her quiz scores. Which term best describes her average score?

Mean
Median
Mode
Range

gow»

101. ‘What is the mean of this set of numbers? 4, 8,3,2,5,8, 12

gawp
RN TIN

102, ‘What is the median of this set of numbers? 4,8,3,2,5, 8, 12

Towp
o oo N

103. What is the mode of this set of numbers? %,1,3,10,8,1,2,5,6, 1, 88

28
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104. Students collected books for.a book drive. Five students collected the following number of

books:

Student 1: 17 books -
Student 2: 8 books
Student 3: 10 books
Student 4: 8 books
Student 5: 12 books

What ig the mode of this set of data?

What is the mean numbet of books collected per student?

8 books

10 books
11 books
12 books

Onwe

105. The mean of nine test scores is 61. If a score of 71 is added to the group of scores, what is

the new mean?

62
65
66
68

Caw s

106. What is the difference between the mean salary of the workers and the mean salary of
everyone including the President and Vice-President? You may use a caleulator.

Position
President
Vice-President
Worker #1
Worker #2
Worker #3
Worker #4
Worker #5
Worker #6
Worker #7

$25,000
$37,000
$45,000
$62,000

Sowp

Salary
£256,000
$127,000
$ 35,000
§ 20,000
$ 18,000
$ 31,000
$ 24,000
$21,000
$26,000




107. The table shows the scores of 20 students on a history test. What is the average student
score? You may use a calculator.
Score Number of Students
S0 3
85 5
80 3
75 4
70 2
60 0
35 3
A 26
B. 74
C. 77
D. 85
108. Sandy had test scores of 20, 25, 17,22 and 21 (out of 25 total). What is her average
{mean} score?

On the next 3 tests Sandy’s scores were 24, 24 and 23. What is her mean now?

A 24
B. 23
C. 22
D 21

Explain how you figured this out.

109, Philip solved the following problem incorrectly. Explain his mistake.

1659
x 21
1659
+3318
A977

110. Use mental math to solve:

A 400x3= 60 x 60 = 8,000 x 20 =

B. 1600 +80=__ 250+ 50= ' 12000 = 400 =

30
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111. Find the product:

36 47 59 28 15 56 78
x47 x 68 x39 x18 x47 x 36 x37

112. Construct a factor tree for the composite number 27. Express your answer in exponential notation
(powers).

113, Nancy and Gabe had a pizza with 12 pieces. Brent ate 1/3 of a pizza and Kayla ate Y% of a pizza. How
much of the whole pizza is left? Show your work.

114. Show which is larger, smaller or equal using the less than symbol (<), the greater than symbol (=), or
the equal sign {=). :

1in> 12
1em? I m?
2 i} 1vyd?

115. Explain why the formula for finding the area of a triangle makes sense in terms of the area of a
rectangle (use a drawing in your explanation).
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116. Use a protractor to measure the following angles. Then classify them as acute, obtuse, or right
angles.

c
B .
A - = - -
O
<DOE = This angle is (acute, obtuse or right?)
<COD = This angle is {acute, obtuse or right?)
<BOE = This angle is (acute, obtuse or right?)
<AOC = This angle is (acute, obtuse or right?)

117. This parallelogram has one angle of 50°, What are the measures of the other angles?

‘&

A. Measure of angle A
B. Measure of angle B

C. Measure of angle C

118. Show your work: 723.89+23.8=

119. Show your work: 824.03 ~123.8 =

120. Show your work: 4.3 x 6.8 =



121. Do the following divisions. Then check your answer. Show your work. No calculators!

A, 1524+6=

D.

380+ 10=

. 4235+ 10=

4) 769

5) 765

Check your worke

1524

380

33
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122, Find the products or quotient. -

Any multiplication problem you do not know quickly please practice on flash cards.
4 s 3 s 9 5 7

x7 x0 x3 x8 x4 x7 x1

D6 33 P15 520 318 36 535

72+8= g+2=

—
o0
S—
——

123. Convert from fraction, decimal and percentage.
Fraction (simpiest form) Decimal

Va

08

3/10

9 5
X5 x6
756 927
3. 0
x8  x8
72+9=

6
X3 x6
416 721
7 5
x3 x5
6+1

735 3127 6)36 3)24

Percentage

20%

34

9 7 7
x8 x7 x9
4520 728

6 308
x4 x9 x4
20 432

6 4 11
x8 x5 x4
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Answer the following in simplest form. Show your work.

124, Ya+%=

125. 2%¥0+ 1 ¥O=

126, /O -3 00=

127. 7 %0 - 30/00=

128. % - Hl=

129. 8xiyO0O=

130. 0 x /0 =

131. % + %0 =

132. %0 + 6=
133. 3+ YO =
CONGRATULATIONS!!! You have completed the summer math packet. You are

now ready for 6™ grade success! Please turn this packet into you 6™ grade teacher,
the first week of school in September.




